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9.1. G, H G H
)
f(9192) = f(91)f(g2)
f
9.1. n Z Z
f(k) = nk
f
9.2. a,b,n aZ.
f(k) =nk
f a,b,n
9.3.
(1) Z Z n +— n?
(2) Z Z n—n+1
9.2
w=1{9:9"=¢)={e,; g7, g% 9", ...
Cn
gt=e
) Cn
9.4. (05 )C,
9.5. n Z C, =
f(k) =g"*
/
9.6.
(1) Cs =(g;9° = ¢)
(2) Cy = (h;h* =¢)
(3) f:C6e—Cy  f(g")=h*

NO.9

f:G—-H
91,92 € G

Cs



2 c ) NO.9

9.7.
(1) G5 =(g;9° =)
(2) Ca=(h;h' =¢)
(3) [:C5s—Cu [f(g") =h* (p€Z)

Cs Cy
(¢°=g° )
9.8 m,n Cm:<gugm:e>:
(h;h" = e)
flg")=h" (pel)
f
9.9. a,m,n Co = (g;9g™ =
Cn = (h;h" =e)
flg") = h (peZ)
f
9.10. G = GL(n; R) H = GLy(R) f
det(A) 0
J(A4) = < 0 det(A)—l)
f
93. f:G—H f
H ex [
Ker(f) = f""(en) ={9 € G; f(g9) = en}

9.11. 9.5 ¥

9.12. 9.6 ¥

9.13. fG-H G

9.14. f: R — C~ f(z) = cos(z) + v/—1sin(z)

f f
R
0

9.15. C* - CX : 2+ 2°

?(cos(??) + v/ —1sin(?7?))

CX



